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versionsnummer: 18.05.2025

Naturholz kann sich werkstoffbedingt verziehen. Durch das Montieren
ziehen sich Teile wieder plan.

Z (et et e g

= o o o o o o o o o o o o o
__— | - S 1o o = NG D < 15} I8Y et

N
/// — — —

o O
T M T e

4x

o]

’ 19
14x 14x . p- 4x 4x ( 8x 14x

s e ) st == £

s2 o1s #1251 = 138 $6x30 mm j48 asxi7om ] q 12
\ 20x “\\\\\\\\‘

) p1 $6x20mm @93







° L
& o

k5

o I

0 ’@
\G) o

k5

ka)
O

4x

=)

4x

©
















20x
$6x20 mm e23

Y

% d

=1

@3-

(=
)

@3~

(=
%

" //%‘%
e23







14
LR )
$5x17 mm d1

10




